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1. Answer the following as directed : 1x8=8
ent is an improvement
in the living standard of the masses of
low income population residing the
rural areas and making the process of
self—sustaining.” This was said by B. L.

Mathur/Uma Lele/World Bank.
( Select the correct answer )

e Food Campaign (GMFC)
1943/1952/1953 in

(@) “Rural developm

(b) The Grow Mor
was launched in

the wake of Ben

( Select the correct answer )
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(42
(c) whoé
i , iy tarted Sevagram Project in 19367
¢€  29/40/7
Constitut; 3 of the Indi
tion mentioned zb;irtt

Panchayati Ra:
Yat Raj System for India

( Sel
ect the correct answer )

(e) The
progra-n'lme
f DW.
as a gy 2 CRA was initi
in-1g scheme of IR nitiated
82-83. DP/NIRP/EAS
(S
() Indira , elect the correct anEwert)
a Centr:ﬁas Yojana (I AY)
intrody : Y Sponsor was
ced in 1996 ed  scheme

Wnte on
each) .

(a)
(b)

e follo L |
WINg (within 5 50 B
¥ woras

4x4=1

{c)
(d)

( Continued )
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Answer the following questions (within 500 words
ach) :

3.

b i

Pls__3500+3000/464

Discuss
of rural
2+(5+5)=12

rural  development?
importance

What is
the socioeconomic
development.

Or

Discuss the approaches taken by the
Government. | ofgmdie for rural area
development in 20th century. 12

the role and responsibility of BDOs
11

Examine
in rural development..
or

iscuss its role in rural

What is ‘NGO? D
4+7=11

development.

f SHGs in socioeconomic

Discuss the role © ‘ :
owerment of women 111

and political €mP
Assam.

Ll

Or
Discuss the need for people’s participation
and cooperation in rural development.
ents of

bis-cuss the objectives and achievem L

Indira Awaas Yojana (IAY). 6+5=
.Or

Write a note o1l MGNREGA and NREP. 6+5=11
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(4)

r for solving |
dial measures sl
and suggest reme
the problem.

Or

l ) 1 d

5+6=1)
* % K
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